

نام نام خانوادگی: علین عقیق ۲۰ کتیف: ۵

$$f(n) = \binom{-1}{r} x^{-r} = \frac{r-n}{r-1} \rightarrow f(n) = \frac{r-n}{r-1}$$

$$y = \sqrt{x^r f(n+1)} \quad \rightsquigarrow \quad f(n+1) = \frac{r-n-1}{r-(n+1)} = \frac{1-x}{x} - 1 = \frac{1-x}{x} - \frac{x}{x} = \frac{1-x-x}{x} = \frac{1-2x}{x}$$

$$D_F: [0, 1] \quad \leftarrow \quad \begin{array}{c} 0 \quad 1 \\ - \quad 0 \quad + \quad 0 \quad - \end{array}$$

$$f(n) = \sqrt{n + |n+1|}$$

$$f(-n) = \sqrt{-n + |r-n|} \rightsquigarrow \begin{cases} |r-n| - n \gg 1 & r-n \gg n \rightarrow rn \leq r, n \leq 1 \\ |r-n| \gg n & \begin{cases} \vee \\ r-n \leq -n \end{cases} \end{cases} \Rightarrow D_P$$

$$y = \sqrt{\frac{n-1}{f(n)}} \rightarrow \frac{n-1}{f(n)} \geq 0 \rightarrow \frac{-\varepsilon}{-\frac{1}{2} + \frac{1}{2} - \frac{1}{2} + \frac{1}{2} \times}$$

$$D_F: (-\varepsilon, 1] \cup (r, r)$$

$$y_1 = \frac{1}{9n^2 - 4n^2 - 8n - 2}$$

$$\leadsto 9n^2 - 4n^2 - 8n - 7 = 9n^2 - 4n^2 - n^2 - 8n - 8 + 1$$

$$= 9n^2 - 4n^2 + 1 - (n^2 + 2n + 1)$$

$$= (n^r - 1)^r - (n+r)^r \neq 0 \rightarrow (n^r - 1)^r \neq (n+r)^r$$

$$y_r = \frac{1}{\dots}$$

$$\overline{x_n^r + a_n + b} \rightarrow Dy_r = x_n^r + a_n + b \neq 0$$

$$Dy_1 = Dy_2 \leadsto \kappa_n^T + a_n + b = \kappa_n^T - x - \kappa$$

$$\begin{matrix} a = -1 \\ b = -2 \end{matrix} \Rightarrow \sqrt{-(a+b)} = \sqrt{3} = \sqrt{3}$$

$$\mu_{n-1} \neq -n-1$$

$$r_n^r - 1 \neq n + r$$

$$\mu_n^r + n + 1 \neq 0$$

$$\mu_n - n - \mu \neq 0 : D_y$$

(+) $\frac{1}{2} P$ DC

$$f(x) = x^r + x$$

$$y = \sqrt{f(n) - f\left(\frac{\epsilon}{n}\right)} = \sqrt{n^c + n - \frac{4\epsilon}{n^c} - \frac{\epsilon}{n}}$$

$$n^r + n - \frac{4\varepsilon}{n^r} - \frac{\varepsilon}{n} \geq 0$$

$$n^2 - \frac{4\epsilon}{n^2} + n - \frac{\epsilon}{n}$$

$$(n - \frac{\varepsilon}{n}) \left(n^r + \varepsilon + \frac{14}{n^r} \right) + \left(n - \frac{\varepsilon}{n} \right) =$$

$$\left(n - \frac{2}{n}\right) \left(n^5 + \omega + \frac{14}{n^5}\right) \geq 0$$

$$-r = r \frac{n-2}{n} > 1, \quad -\frac{n-2}{n} > 1,$$

$$-\phi + \sqrt{\phi} + \sqrt{D_f : [-r, 1) \cup [r, +\infty)}$$

$$x^r_t : t + \frac{14}{t} + \omega \rightarrow t^r + \omega t + 14$$

$$f(n^r + r) = r n^r - 1 \rightarrow f(r) : n^a + n = r \rightarrow f(r) = r(1)^r - 1$$

$$n^a + n - r = 0$$

$$\frac{n^a + n - r}{n^a + n + r} = \frac{n-1}{n+1} = (n-1) \frac{(n-1)}{(n+1)} \quad f(r) = 1$$

$$\underline{n=1}$$

$$f(1,0) = r(r)^r - 1 = v \rightarrow f(1,1) = v$$

$$f(r) + f(1,1) = 1 + v = \Lambda$$

$$f(n) = n^r - 4n^r + 12n - \Lambda + \Lambda = (n-r)^r + \Lambda$$

$$g(n) = n^r + 4n^r + 2vn - 2v - 2v = (n+r)^r - 2v$$

$$\frac{g(\sqrt{v}-r)}{f(\sqrt{r}+r)} = \frac{-r}{1} = -r$$

$$\Rightarrow g(\sqrt{v}-r) = (\sqrt{v}-r+r)^r - 2v = -2v$$

$$\Rightarrow f(\sqrt{r}+r) = (\sqrt{r}+r-r)^r + \Lambda = 1$$

$$f(n) = \sqrt{n+\varepsilon\sqrt{n-\varepsilon}+\varepsilon-\varepsilon} = \sqrt{(\sqrt{n-\varepsilon}+r)^r} = |\sqrt{n-\varepsilon}+r|$$

$$g(n) = \sqrt{n-\varepsilon\sqrt{n-\varepsilon}+\varepsilon-\varepsilon} = \sqrt{(\sqrt{n-\varepsilon}-r)^r} = |\sqrt{n-\varepsilon}-r|$$

$$f(n) + g(n) = |\sqrt{n-\varepsilon}+r| + |\sqrt{n-\varepsilon}-r|$$

$$\begin{cases} \varepsilon \leq n \leq \Lambda : \sqrt{n-\varepsilon}+r+r-\sqrt{n-\varepsilon} = 2r \\ n > \Lambda : \sqrt{n-\varepsilon}+r+\sqrt{n-\varepsilon}-r = 2\sqrt{n-\varepsilon} \end{cases}$$

$$\begin{cases} a+b\sqrt{n}+c \\ a+b\sqrt{n}+c \end{cases} \begin{cases} a+b \\ b+c \end{cases}$$

$$f(n) = \frac{n+r}{n^r-\varepsilon n+r} = \frac{n+r}{(n-1)(n-r)} \rightarrow D_f : \mathbb{R} - \{1, r\}$$

$$\Rightarrow D(f \circ g) = \{r, 1\}$$

$$g(n) = \{(r, 1)(1, 1)(r, \omega)(1, \varepsilon)\} \rightarrow D_g : \{r, 1, r, 1\}$$

$$\frac{g}{f} : (r, \frac{1}{-r})(r, \frac{r}{r}) = \{(r, -\frac{1}{r}), (r, 1)\}$$

$$f(n) = \{(1, r)(r, -1)(\varepsilon, r)(-1, 4)\} \rightarrow D(f \circ g) = \{1, r, -1\}$$

$$g(n) = \{(-r, r)(1, -1)(r, r)(-1, 0)\}$$

$$f(n) = \{(\frac{1}{r}, r)(\frac{r}{r}, -1)(r, r)(\frac{-1}{r}, 4)\}$$

$$\{(-r, r)(1, r)(r, r)(-1, 1)\}$$

$$\Rightarrow f(n^r) = \{(-1, r)(1, r)(\sqrt{r}, -1)(-\sqrt{r}, -1)\}$$

$$\{(-1, r)(1, r)(\sqrt{r}, -1)(-\sqrt{r}, -1)\}$$